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QUESTION NO: 1 
 
What is the basic trade-off made in LNP XE when locating warehouses?
 
 
A. Routes and safety stock. 
B. Transportation costs and warehouse variable costs. 
C. Taxes and currency exchange rates. 
D. Warehouse fixed costs and transportation costs. 
 

Answer: D

Explanation:  

 

 

 

QUESTION NO: 2 
 
What is a benefit to the client of the authorized user licensing metric?
 
 
A. The ability to have multiple users share a single machine 
B. The ability to share a dongle key 
C. The ability of a single user to have rights to run on their desktop, laptop, and a server 
D. The ability to have a read-only version 
 

Answer: C

Explanation:  

 

 

 

QUESTION NO: 3 
 
Inventory and Product Flow Analyst (IPFA) only deals with products aggregated to what level?
 
 
A. Product Family 
B. SKU 
C. Product Grouping 
D. All of the above. 
 

Answer: D

Explanation:  

 

 

 

QUESTION NO: 4 
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